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Q1 Q2 Q3 Q4 QS Q6 Q7 Q8 Q9 Q10 

2 3 2 2 4 2 3 3 2 1 

Q11 Q12 Q13 Q14 Q15 Q16 Q17 Q18 Q19 Q20 

4 2 4 3 2 3 1 3 4 3 

Q21 Q22 Q23 Q24 Q25 Q26 Q27 Q28 

1 4 4 3 4 3 1 3 

SECTION B 

Q29a 

Q29b 

Q29c 

Q30a 

Q30b 

Q31a 

Q31b 

Q31c 

Q32a 

Q32b 

Q33a 

Q33b 

Chloroplast 

The rose plants could inherit both of its parents' genetic information. 

Nucleus 

The roots of the plant took in the red-coloured water and transported it via 
the xylem to all parts of the plant including the flower . 

. . .  

After fertilisation and pdlination, the flower develops into a fruit to help the 
plant reproduce. 

The tiny openings take in carbon dioxide to allow the plant to carry out 
photosynthesis. 

Oxygen is made. After oxygen is made, it is released by the leaves into 
surrounding air. 

He should measure the change in oxygen levels at the three locations. 

Warmth, oxygen, water 

Experimental set-up: 400g moist soil, 6 seeds of plant X, 30g crushed 
eggshells 
Control set-up: 400g moist soil, 6 seeds of plant X 

Photosynthesis 

The white leaf discs did not have chloroplasts and could not carry out 
photosynthesis to produce oxygen bubbles which would allow the leaf disc 
to float to the surface. 
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Q33c To ensure reliable results. 

The more the amount of light received by the leaf discs, the faster the time 

033d 
taken for the first leaf disc to float to the surface of the water. For distance 
of container lower than 10cm, the time taken remains constant even 
though amount of light received increases. 

Circulatory system. It transports digested food, oxygen, water and mineral 

Q34a 
salts to all parts of the body and transports carbon dioxide and other 
waste materials from all parts of the body to the organs that remove these 
substances. 

Q34b 
P: carbon dioxide 
Q: oxygen 

From the air sacs in the lungs, the oxygen get absorbed into the 
Q34c bloodstream. Blood in the circulatory system carries the oxygen-rich blood 

to all parts of the body. 

Q35a There is more oxygen in inhaled air than exhaled air. 

Q35bi When exercising, Charlie's heart rate increases. 

When Charlie stopped exercising, his body needs less energy than 

Q35bii 
before. Hence, his heart rate decreases to transport less digested food 
and oxygen to his body and transports less carbon dioxide produced, for 
removal. 

Q36 
As there was no hole in the bottom of cup B, air occupied space and was 
unable to escape, so the cups were stacked higher. 

Material M is a poor conductor of heat and heat will take _longer to enter 
Q37a. the container, thus keep.i□g the ternp�rature low and.slowing th.e melting_ of 

the ice. 

Q37b 0°C 

Q38a To find out if the presence of wind affects the rate of evaporation. 

Q38b 500 ml 

The water in A gained heat and evaporated into water vapour. The warmer 

Q38c 
water vapour came into contact with the cooler inner surface of the plastic 
container and condensed, forming water droplets. Hence, the plastic 
container became wet. 

Q38d 
It is to keep all other variables constant and ensure that any difference in 
results of the experiment is only due to the presence of wind. 

As the glass bottle loses heat to the cold water, the air in the glass bottle 
Q39a will lose heat to the glass bottle. This causes air in the bottle to contract, 

decreasing its volume thus there is more space for the balloon to inflate. 

As metal is a better conductor of heat, heat travels through faster, causing 
Q39b the air in the bottle to lose heat faster, contracting faster to create the 

space for the balloon to inflate faster. 
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Q40 

Q41 a It is a magnetic material. 

When the circuit is closed, electricity flows through and makes the iron rod 
Q41 b a temporary magnet. Then the iron rod attracts the cover and pulls it to the 

right, allowing the fish food to drop. 

Pg 3 


